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Analysis of equipment using Arduino in arctic
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14.10 C 41.30 %

46GPS : T7SCPGGA,174326.000,7B55.3641,N,01155.8755,E,1,11,0.77,8.3,M, 334833309
Co2 : 21.11lppm

14.10 € 41.30 %

51GES :

S$GPRMC,174327.000,A,7855.3641,N,01155.8755,E,0.00,0.00,0208154}B%33b%

Co2 ¢ 20.89%9ppm

14.20 C 41.60 %

46GPS : 7$CPGGA,174331.000,7B55.3641,NW,01155.8755,E,1,10,0.83,8.3,M, 334 )}Baffb@
Co2 : 21.11ppm

14.20 C 41.60 %

44GPS : 10,0.B3,8.3,M,33.7,M,, %64
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Co2 : 21.11lppm

14.20 C 41.80 %

3eGPS : 3,3,12,18,21,069,42,17,10,318,37,15,07,010,33,33,01,207,*76

34} 136

Co2 : 21.11lppm

14.20 C 41.80 %

36CPS : GPCGA,174335.000,7855.3641,N,01155.8755,E,1,10,0.83,8.3,M,33.74)B' 330
Co2 : 20.67ppm
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36GPS : GPGGA,174336.000,7855.3641,N,01155.8755,E,1,10,0.99,8.3,M,33.79}B(Hbe
Co2 : 21.1lppm
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44GPS : 0B15,,,RA*65

SGPVTG,0.00,T,,M,0.00,N,0.00,¥,A*3D

SGPGGAR, 174336} B(Hb@

Co2 : 20.45ppm
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46GPS : .$CPGGA,174346.000,7B55.3641,N,01155.8755,E,1,10,0.83,8.3,M,334)B ffb@
Co2 ¢ 20.89%9ppm
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36GPS : $CGPGCGA,174347.000,7855,.3641,N,01155.8755,E,1,10,0.99,8.3,M,33.4)B £fb@
Co2 : 20.24ppm

14.40 C 39.50 %

S51GPS : OA*3D

$GPGGA,174351.000,7855.3641,N,01155.8755,E,1,10,0.99,8.9}B

Co2 : 20.8%ppm

14.40 C 39.50 %

36GPS : $GPGGA,174352.000,7855.3641,8,01155.8755,E,1,10,0.83,8.3,M,33.9}B

Co2 : 20.02ppm

14.40 C 39.00 %

36GPS : GPGGA,174353.000,7855.3641,N,01155.8755,E,1,10,0.99,8.3,M,33.74}B

Co2 : 20.67ppm
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